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1 13| K & FREBEK | mEsLFr—2r—r pEbofiges|  76,000(  31,200) 50,200 38400  53,100{ 52,900, 301,800
2 | 25| PR IR | mEREsd BBV 56.300| 50,200 32000] 53700 29.800| 165800 238,800
3 4| HI BF | sEnead BBy A 5000] 30600] 54900 68800 32200| 42,100 223,600
4 | 26| B FHA | s R BB I -2 55700 42100 21200 34300] 51700 4300/ 209,300
5 24 = & oy i) HR vy 20,900/ 25100 57,600| 33500/ 18900/ 28000/ 184,000
6 6] B BEE | s AT PR R 472 13400 83300 51,500| 15700 A 4,200 14800 174,500
7 200 PNHH 3B | segsisus oA oA A 24600  61400| 53,100| 51,100 17,300 7,400 165,700
8 16] KAx —2Z | sisumskhili WREY e 65,600] 19,900 3,900 31,600 1,200 33700 155,900
9 | 27| WHE E S LR T Jig 35200  11,000] 28500 45400 120,100
10| 18| T 1 V5 — | #EBHK |mmmsr—as—r miEboids| 39,600 6,700] 14,600 57,100 118,000
11 11 I F | SEBAK | mEsnsr—2r—nr pEbelsg|  9100] 27,2000 27,2000 50,800 114,300
12 | 15| f@ME BOR | sosomsnt i R B 24,500 200] 64500 18,200 107,400
13 | 17| FA {8 | sosegmsort b R & 55300]  4,600] 31,000] 8700 99,600
14| 5| FHAEF [ imbnt | BeEmgRes A 1,900] 72000  10,900] 16,600 97,600
15 | 14| KB | s Bmx | mmossr—nr—n pEboiss|  41,300]  6500]  36,900] 10500 95,200
16 | 10|#Ex K BB somizirx B 42,900| 59,100 A 3,900| A 4,600 93,500
17| 22| =i K| s sinsEix HF 5T B 46200] A 9600  7.700] 34,000 78,300
18 1| /K J | EeRRet R T R 34,100| A 10000  37,900] 16,200 78,200
19 | 21] 5K FERE | =mmpmed e 4,600 700] 36700 35200 77,200
20| 2| /vy HEF | EwREwG IR TT R 4000  49.200] 16,700 A 100 69,800
21 | 12| AR S5 | wizoimgkimidi | BEREEHERFRT S 30,900| A 15100  41,100] 6,800 63,700
22| 9| MY T | sums s HF 33 A B 34900  37.800| A 12,800| A 1,200 58,700
23 T AR THA | )ikt R R AT 2 21,500|  16,400|  20,200] A 3,300 54,800
24 3| BRI | g ki A IR AT 2 A 19100| 52300] 19,900 A 1,600 51,500
25 | 8| /MIE TR | s TR HIX HF 3 AR T A 4800| 39100 A 5000] A 2200 27,100
26 | 19| AEbk BE— | mEmesd AT 15300 2200 A 11,200] 16,700 23,000
27 | 23| ®E FUS | dEumEEK | mEsrrr—asn srboism| A 4500] A 3800] A 2700] 16700 5,700

28 AR 7 32,600 9,700| 17,400 53,000 112,700
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